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JiF BT 219 229 448 180
FFRET—TH 357 442 799 409
BT =TH 266 255 521 241
FHRET=TH 284 317 601 261
FFRETE T B 716 857 1573 740
FFHRETRETH 1,225 1419 2,644 1,147
BT B 1,352 1513 2,865 1,110
FFHRETETH 464 546 1,010 446
FFRET/\TH 185 200 385 222
EB¥B—TH 187 240 427 216
BFRI—TH 1,025 1,125 2,150 1,008
H ./ O ET 313 344 657 264
M<EBE—TH 487 556 1,043 513
MEIZTH 1,542 1,800 3,342 1,464
MSE=TH 471 527 998 403
MRETETH 522 528 1,050 473
/N BT 810 861 1,671 638
/NHET—TH 111 113 224 104
/INEBT=TH 893 908 1,801 764
/INART=TH 217 226 443 168
FFNET 436 614 1,050 537
FMET—TH 240 241 481 222
FPFET—TH 365 359 724 280
5 1] 1 1 2 1
SEET—TH 447 474 921 395
SER=TH 405 537 942 450
= 3FH 758 822 1,580 663
= SRET 326 368 694 297
£ IR HET 360 355 715 292
— & [HT 227 260 487 202
EN] 1,037 1,129 2,166 950
LI T 1,062 1,127 2,189 845
PRAERT—T B 276 305 581 270
AR =TH 638 749 1,387 596
RAERT=TH 190 228 418 186
PRAERTIE T B 430 427 857 243
EEH 237 196 433 176
EEE—TH 391 445 836 361
EER=TH 312 370 682 294
EER=TH 629 689 1,318 614
EERMTH 58 71 129 58
{BAHT 558 22 580 575
BABI—TH 846 947 1,793 824
BAAET—TH 1,031 1,304 2,335 1,153
BHAB=TH 533 565 1,098 512
BXETETH 868 919 1,787 886
BARATH 579 631 1,210 580
BXHET/RTH 380 416 796 428
st _E HT 346 325 671 370
th ERT—TH 251 220 471 317
t ERT=TH 482 466 948 492
M ERT=TH 455 520 975 493
M ERTET B 297 284 581 256
T HRT 3,716 3,830 7,546 3,113
B R A< ET 449 469 918 360
KEBI—TH 452 443 895 357
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[IKAEET_TH 646 764 1,410 595
[KAEEFT=TH 1,210 1,298 2,508 1,099
[AEBTET B 422 447 869 369
[IKAEFTRTH 1,284 1473 2,757 1,375
) 4,165 4378 8,543 3,424
WSEHF—TH 442 475 917 358
WAEH-TH 619 655 1,274 513
WSEH=TH 1,996 2,202 4,198 1,608
WSZEHFETH 1,502 1,699 3,201 1,110
WSEHATH 519 587 1,106 426
E3fa:i] 442 473 915 396
il 234 255 489 215
HHTEET 353 384 737 297
= #RHET 661 708 1,369 558
FOEHET 758 777 1,535 596
e ERT 259 248 507 226
;E3 AT 685 657 1,342 521
B HT 1,125 1,080 2,205 899
2R 163 178 341 146
DNDZEHFHF—TH 1,045 1,119 2,164 823
NFHH_TH 1,255 1,300 2,555 959
NEH»H=TH 599 616 1,215 529
5EE5—TH 461 516 977 412
FEL-TH 735 788 1523 589
FEE=TH 612 739 1,351 586
FBHE—TH 861 910 1,771 771
SBE=-TH 1,223 1,300 2,523 1,082
XBHE=TH 1,178 1,264 2,442 1,219
EONEH—TH 1,387 1,320 2,707 748
EONEHF=TH 1,387 1,532 2,919 992
TOAH=TH 848 896 1,744 511
[EONEHFMETH 2 3 5 1
TOAHATH 445 476 921 265
[EOMEFARTH 429 433 862 257
HI=E—TH 443 445 888 290
AT=EZTH 590 565 1,155 341
AHEE—TH 313 322 635 301
RNHEE—TH 505 523 1,028 396
ANE=TH 556 584 1,140 441
NHEEMTH 315 365 680 255
EEE—TH 955 983 1,938 796
EER=TH 815 838 1,653 793
EER=TH 719 740 1,459 537
FEERTETH 258 284 542 264
HEREH—TH 365 343 708 345
HEWRET—TH 352 367 719 256
EREI=TH 261 276 537 209
ERETWMTH 238 211 449 215
ERETRATH 448 459 907 396
HEREBRTH 390 441 831 349
3F HHET 3 5 8 4
FHE—TH 223 230 453 227
FHET—TH 603 718 1,321 602
FHET=TH 166 188 354 140
7 E—TH 249 282 531 226
ByE_TH 644 715 1,359 591
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7 E=TH 197 221 418 164
FHUE 1 1 2 1
HPHEF—TH 24 22 46 46
HPAHEF_TH 3 0 3 3
EARJIHT 151 179 330 137
5 2R HT 226 245 471 197
A FFHET 382 377 759 369
& KHET 427 442 869 369
WEFHET 195 197 392 172
T/ AT—U—TH 1 4 5 5
THO/AT—U=TH 8 0 8 8
1 BT 285 300 585 229
/NE7 AT 266 304 570 239
T=H] 202 228 430 190
[ sifs T 380 371 751 325
HEJE LI BT 7 3 10 6
Jt H R ET 189 203 392 171
e BT 101 100 201 85
LR HET 116 120 236 96
= IEHT 128 136 264 119
12 ET 366 379 745 301
A I ET 143 141 284 119
A SR ET 232 240 472 206
REFHT 188 187 375 170
=—TH 182 202 384 250
£=_TH 456 582 1,038 608
EZ=TH 477 588 1,065 595
ST 95 98 193 85
EFHT 96 121 217 96
EHE—TH 261 307 568 260
EHE—TH 189 196 385 176
AHET 789 875 1,664 801
= FAET 1 0 1 1
EMET—TH 466 509 975 461
EME—TH 500 519 1,019 541
EMEI=TH 422 435 857 467
LHT 1,862 2,077 3,939 1,721
BNIEM 7 8 15 9
BOER—TH 402 368 770 405
BNER-TH 782 750 1,532 728
BNER=TH 723 607 1,330 536
ERHT 1,165 1,251 2,416 1,088
T FHT 782 819 1,601 657
FFEI—TH 128 159 287 149
FFRI-TH 327 326 653 323
FFRI=TH 410 421 831 411
INEFHT 66 81 147 65
#2lLUs—TH 583 665 1,248 553
B2LE5=-TH 1,444 1,406 2,850 1,719
B2ILUE=TH 1,446 1,608 3,054 1,498
#2LUEMTH 424 494 918 386
=i 89,780 95,840 185,620 80,184
it EADORHED) 1,402 1,249 2,651 1,591
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